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The question paper comprises five sections, A; B, C, D and E. You
are to attempt all the sections.

All questions are compulsory.
Internal choice is given in sections B, G, D and E.

Question numbers 1 and 2 in Section-A are one mark questions.
They are to be answered in one word or in one sentence.

Question numbers 3 to 5 in Section B are two-marks questions.
These are to be answered in about 30 words each.

Question numbers 6 to 15 in Section C are three-marks questions.
These are to be answered in about 50 words each.

Question numbers 16 to 21 in Section D are five-marks questions.
These are to be answered in about 70 words each.

Ouestion numbers 22 to 27 in Section E are based on practical skills.
Each question is a two marks question. These are to be answered in
brief.
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SECTION-A
fagaam & ST ARk &1 99 3R Igeht ufeam fafau)

Name and define the SI unit of current.

ST % YH@ TH 1 AW R Iuht gfawraar fafaw)

Write the name of the main constituent of biogas. Also state its
percentage.
" -
SECTION-B
39 qed X & 9, Tt AR goiaeie o= fafgu St awmm
e 11 R
HAAT
F1 A9 fou MU qet % Tg SfeUsR %k B % w9 ° arffed fohu S
Hehd 8 7
(a) Na, Si, Cl (b) Be, Mg, Ca
3 dedl & AT eI 39 TR 2

Be-9; Na-23, Mg-24, Si-28, Cl-35, Ca—40
T TR § 379 I At gfE fifs

Write the name, symbol and electronic configuration of an element

X whose atomic numberis 11.

OR
Can the following groups of elements be classified as Dobereiner’s
triad:
(a) Na, Si, Cl (b) Be, Mg, Ca
Atomic mass of Be-9; Na-23, Mg—24, Si-28, Cl-35, Ca—40.
Justify your answer in each case.
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h

e T & 0, 3f CO, %1 T8 o wehTt reft 27

How is O, and CO; transported in human beings?

ﬁaﬁﬂaﬁéram%ﬁgqammﬁaﬁqwﬁwzﬁgﬁwm
3Ig@ HitT|

Write the structure of eye lens and state the role of ciliary muscles
in the human eye.

Hor-¥
SECTION-C
37 37t T &R B e iR R i aregiee HeHe S
2l aﬁw%wﬁqﬁwmﬁaﬁwﬂw%&ama@@?ﬁﬁq%w
12 AR STl STIaT AT T T 21 THH pH =1 oft ferfean)
Identify the acid and base which form sodium hydrogen carbonate.

Write chemical equation in support of your answer. State whether
this compound is acidic, basic or neutral. Also write its pH value.

aﬁﬁ%w?ﬁm%mmm,m%%@mﬁgﬁ
F0 gu, i fn o AR % o - fafen:

(i) & (I9) 1 % dcdi 1 ATFATES

(i) H9E 13 % dcdl 1 o158

(iii) TE 2 % qed A 3 T 17 % dcd B % aoH § a1 Al
Based on the group valency of elements write the molecular
formula of the following compounds giving justification for each :
(i) Oxide of first group elements.

(ii) Halide of the elements of group thirteen, and

(iii) Compound formed when an element, A of group 2 combines
with an element, B of group seventeen.
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8. P T o 2 o P aiEs S T8 p w % R %

TeRTYT § T@T 7T 8| $H YeROT § 3719 97 Y&T il 7 B ATl TEEE
sffsran =1 wqfaa TamEfs e dfw) 3@ et afifean &
YT &I TEEEe feau|
ruat

Hi= fau mu yew g d B9 arelt AfufEn % yer @ ggafau o
35 fau aqfea mamafies e fafey)
(a) o= Taear Argee o srfufsrn @ S arsee o fiear s9mn 21
(b) urfirm ese g A5 ¥ fufrar = qifmm T @ik

g HHATEEE 9T 2

2 g of silver chloride is taken in a china dish and the china dish is
placed in sunlight for sometime. What will be your observation in
this case ? Write the chemical reaction involved in the form of a
balanced chemical equation. Identify the type of chemical reaction.

OR

[dentify the type of reactions taking place in each of the following
cases and write the balanced chemical equation for the reactions.

(a) Zinc reacts with silver nitrate to produce zinc nitrate and
silver.

(b) Potassium iodide reacts with lead nitrate to produce potassium
nitrate and lead iodide.

a1t fefaw) g ufmar = feftle =@ % oo
T i T Hif)

Define the term transpiration. Design an experiment to demonstrate

this process.
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10. & fema & gfon Srnfafy s 27 5@ ofwen f sawen wgiom
T ITE0T AR HIfTT|

What is feedback mechanism of hormonic regulation. Take the

example of insulin to explain this phenomenon.

11. 91e9 gHF 1 8 8¢ Fefafed % fore SRt 9igy gHiF & am
fafigy .
(i) @ i 9fg # wEwe
(i) =hifsrept favmem =t Sfa e
(iii) 9fg =1 dem
(iv) iR T § 3t ¥ we
What are plant hormones ? Name the plant hormones responsible
for the following :
(1) Growth of stem
(i1) Promotion of cell division
(iii) Inhibition of growth

(iv) Elongation of cells

12. 39 urey &1 9 fafge fSaem soam dea 3 o9 yam § fomn o o«
IEH o 3T A UTedl W HRl AT | 398 By 3 F, difed d
Hafaai % ®H ¥ YHER YW ge? F, fidt § 3= wW qEi H§ g
fafam)

‘ HAIAT

T 1 UH-Uh I o0 §Y I R AR Ao o o Q
=0 <t g S|
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Name the plant Mendel used for his experiment. What type of
progeny was obtained by Mendel in F; and F;, generations when he
crossed the tall and short plants? Write the ratio he obtained in F,
generation plants.

OR

List two differences between acquired traits and inherited traits by
giving an example of each.

13. GaTeAl &1 wH faar #@i g wifge? 39 EF aremdl i e s
TR AT o A faar % faeg wd i aed 2 3
Why should there be equitable distribution of resources? List three

forces that would be working against an equitable distribution of
our resources.

14. 9fRE & fuer it gyen #l #9 $E § & 58 TSR g2gar
TR &7 o9 faftrml gamey 3

HAYAT
uiitas i aftursr foafaw) e aifids & sef-var aof % R sars
@ dife|
How can we help in reducing the problem of waste disposal ?
Suggest any three methods.

OR

Define an ecosystem. Draw a block diagram to show the flow of
energy in an ecosystem.

15. SCEEY 91 7 $RugY o1 qui o e Amifa st difem) 3

What is a rainbow? Draw a labelled diagram to show the formation
of a rainbow.
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HT-q
SECTION-D
16. 3 A 1 9 i TEEfE g e St 9 Yewaict 9 gerel
1 HECAU TS 7| Tk o1 ST Y g SR B Areh s
%1 TETI THISHT 99T Ie9TE 1 A fafiau w9 a8 @i -
(i) @ifeam arg @ srfufsrn s
(i) T |g Tewien ot & rfufsrar @ 2

HUAT

B AT 27 FEH Soag-fog TCeAT @it 39 Afie § a9 a
Teret w1 TR faiflan) T8 yew & @ifirs

(i) forra & Famere aun

(i) =W TIEHTH AR FH FEUAIH ST 61 B &7 FT B R AT 34
2Mfieh 1 ATefis § gg g 8 ?

Write the chemical formula and name of the compound which is

the active ingredient of all alcoholic drinks. List its two uses. Write

chemical equation and name of the product formed when this
compound reacts with —

(1) sodium metal

(ii) hot concentrated sulphuric acid

OR

What is methane? Draw its electron dot structure. Name the
type of bonds formed in this compound. Why are such compounds?

(i) . Poor conductors of electricity and

(i) Have low melting and boiling points? What happens when this
‘compound burns in oxygen?
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17. (a) Tr=fafee sfufraet & qamfes e e 5
(i) hfcaam grq St | Tffshar st 2|
(i) Tmam =t arg H Jufeafs 9w fomn s 21

(iii) TS STseTaaTsS I UGMEY uset & @iy R St
2|

(b) Trszerg @ €7 fgerget & ot qoremt 6 gt a=Ey
(a) Write chemical equations for the following reactions:
(1) Calcium metal reacts with water.
(ii) Cinnabar is heated in the presence of air.
(111)) Manganese dioxide is heated with aluminium powder.

(b) What are alloys ? List two properties of alloys.

18. ®1E for 30 om %y gt % fopeft staaet 9 & 30 em gl W & 2 5
(i) <9 g3 %1 39 e ghafer hii 9 & ghf Fuffa Hifw
(i) 39 YW1 ¥ o4 el Sfdfoesr & 9/ srfyeeon (wefa, e,
aTes, Har/3Iean) #i gEt AR
(iii) W (ii) % 79+ I it gfP & fore amifera oo s i)

An object is placed at a distance of 30 cm from a concave lens of

focal length 30 cm.

(1) Use lens formula to determine the distance of the image from
the lens.

(i) List four characteristics of the image (nature position, size,
erect/inverted) in this case.

(111) Draw a labelled diagram to justify your answer of part (ii)

— EE
OFE
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19. (a)

(a)

(b)

31/172

fereft 3ugeh ity ot it ger § 78 fag Hifs fF awdsa |
TS wfalel & @qg o god f0Y 1 o U ol
SIesFul % AN % SO Bl 2|

forelt aftwy # 12 Q & 3 Wik 6 V i el o f&T | s
T g &1 st ¥ <t 13 U ;ra it

HIAT

gftuy # g9fe oER 6 V it foRelt sl @ 20 Q wfag =1 w6
@ dm 4 Q iy & =res 8 TG 2| Fefafea # 9E
qfeRfera hifs:

(a) ufay =1 Fa gfawy, —.—WM-.—)—@——»—

(b) uftay ¥ yanfed 4w, i
(c) (i) frgaamam 1
(ii) =meTes @&
fersam=ae qen 7 K
= —(A o)—
(d) S 1 fe - T *
With the help of a suitable circuit diagram prove that the

reciprocal of the equivalent resistance of a group of resistances
joined in parallel is equal to the sum of the reciprocals of the
individual resistances.

In an electric circuit two resistors of 12 Q each are joined in
parallel to a 6 V battery. Find the current drawn from the
battery.

OR

‘An electric lamp of resistance 20 Q and a conductor of

resistance 4 Q are connected to a 6 V battery as shown in the
circuit. Calculate :

10
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(a)the total resistance of
the circuit,

(b)the current through the
circuit,

(¢) the potential difference
across the (i) electric
lamp and (ii)
conductor, and

(d) power of the lamp.

I4

h 4

iE

b 4

20. gfeTferes fre wea 7 (i) foreht amadt wfenfersm aiv (i) feeht w2
I hT grerehia &t st @ i amRaa At @ A A % )

fersigarmtt @amoi <t geht smmw

What is a solenoid ? Draw the pattern of magnetic field lines of
() a current carrying solenoid and (i1) a bar magnet. List two
distinguishing features between the two fields.

21.wmﬁtrﬂ%w%ﬁmﬁﬁmm%wwﬁﬁwﬁﬁm
W % T CNEl (ATehl) H g SIS0l S W BRSNS
o= il S & S 1 HR @y 27

HYGT

(a) fou U sm@ # vl sEF am s

@ % W fafau)
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(b) ™ fReT v wea &7 mi-frtee ffEt s % 4 a6
CEIRCEIEY|

Define pollination. Explain the different types of pollination. List
two agents of pollination ? How does suitable pollination lead to
fertilization ?

OR

(a) Identify the given diagram. Name the
parts | to 5.

(b) What is contraception? List three
advantages of adopting contraceptive
measures.

WT-4
SECTION-E
22. “vem #F wafy 4 CO, Freperdt 27 38 wam B gRifis sqae § 39
qerd w1 T fafau @ vqaen womes § s o1 wEEeh #§ R
m%iwwﬁwwaﬁtmwﬁv%qﬁmwmﬁﬁm 2

In the experimental set up to show that “CO, is given out during
respiration”, name the substance taken in the small test tube kept in

the conical flask. State its function and the consequence of its use.

31/1/2 12
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23, ﬁémﬁsﬁq&wﬁﬁw%%ﬂ%%mmmﬁmm

24,

28,

W%iﬁﬂﬁ?ﬁﬁﬁqwiaﬁmwmﬁmmﬁﬁqf

Huar
mﬁmﬁaﬁﬁ%mﬁamﬁm' H@ Hifeu|

A student is observing the temporary mount of a lcaf peel under a
microscope. Draw labelled diagram of the structure of stomata as

seen under the microscope.
OR

Draw a labelled diagram in proper Sequence to show budding in

hydra.

wwmmﬁﬁaﬁrqﬁwﬁmwﬁsﬁmaﬁ,mw
mmﬁq@%ﬁ’qﬂqmﬁqﬁm@rqﬁ%@ﬁwﬁm%
Hﬁiﬁtaaﬁ%aﬁq%mmmﬁuf&ﬁm%l

List four precautions which a student should observe while
determining the focal length of a given convex lens by obtaining

image of a distant object on a screen,

%&ﬁwﬁﬁwﬂmﬁamummwﬁﬁw%ﬁaﬂmﬁwM
ﬁﬁﬁmwwmmmgﬁﬁwwgﬁﬁamm%fm
%eim?fﬁm%ﬁﬁﬁmm:ﬁ%%qsmméaﬂvﬁrl%aﬁa
mﬁmawmw%éwﬁmﬁm@%%mw
qﬁam%?sﬁmwmﬁm-ﬁﬁwmwﬁﬁaﬁ%m
i fafer ferfigu

(3]

r2
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26.

CPE

3y feufa & o ferelt BT 1 w1 gIE ¢ 99 98 I Al § b Gy
g B9 W ot arfier 3 deafiet ¥ dohaw/gea I 9HEl W
sifera v el & dureht 7 27 yarmemen # sifafed srier/ aeedia
I AR &

While studying the dependence of potential difference (V) across a
resistor on the current (I) passing through it, in order to determine
the resistance of the resistor, a student took 5 readings for different
values of current and plotted a graph between V and I. He got a
straight line graph passing through the origin. What does the
straight line signify? Write the method of determining resistance of

the resister using this graph.
OR

What would you suggest to a student if while performing an
experiment he finds that the pointer/needle of the ammeter and
voltmeter do not coincide with the zero marks on the scales when
circuit is open? No extra ammeter/voltmeter is available in the

laboratory.

T @Al A, B 3R C ® sawn: i fafte ga-smga 5«1, qoia
3l srmga wier forad Tk et Hfewam gethe gen 2, for e # | e
Wﬁwwﬁwmﬁwﬁwuﬁﬂﬁﬁ%ﬁmw%l
w9 ¥ ohm qrEeett & g i oad sifusan #nfi? ot I i gfe
i)

31/1/2 | 14


https://amzn.to/3OFHQkO

27.

In three test tubes A, B, and C, three different liquids namely,
distilled water, underground water and distilled water in which a
pinch of calcium sulphate is dissolved, respectively are taken.
Equal amount of soap solution is added to each test tube and the
contents are shaken. In which test tube will the length of the foam

(lather) be longest ? Justify your answer.

ﬁq@?%ﬁAaﬂtBﬁﬁm:ﬁgHClaﬂINaOHﬁFﬂ?ﬂi‘%,ﬁ
ﬂﬁ%mw%wﬁﬁmw%lsﬁé%aw@mfiﬁﬁ
Wﬂaﬁqﬁ@éé’ﬂ?sﬂiﬂqﬁaﬂqw@@?ﬁﬁqaﬂxwm
i)

ﬁ?@ﬂwaﬁtwm,ﬁaﬁlgzﬂ%maﬂaﬁzmwé,
2mLﬂ3@3@mmﬁaﬁwmwﬁwm§?€ﬁwﬁ
wﬁﬁ%ma:rmmﬁmamw%rﬁgm

Blue litmus solution is added to two test tubes A and B containing
dilute HCI and NaOH solution respectively. In which test tube a
colour change will be observed? State the colour change and give

its reason.

OR
What is observed when 2 mL of dilute hydrochloric acid is added

to 1 g of sodium carbonate taken in a clean and dry test tube? Write

chemical equation for the reaction involved.
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